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1 70919 AR 15.52 709
2 71225 E=t=2) 4 15.67 712
3 71114 T2A5 15.8 711
4 70218 FRZE3E 16.43 702
5 71417 KEE 16.79 714
6 71528 5 4 16.82 715
7 70622 E=I/EA 16.87 706
8 70520 T 17.08 705
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1 70802 MAarE 13.82 708
2 71506 BEK 13.94 715
3 71612 =i 14.22 716
4 71307 iR 14.33 713
5 70109 =Y AL 14.53 701
6 71707 PRI 14.77 717
7 70413 R 15.00 704
8 70609 PR R 15.03 706
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1 81030 AP 14.58 810
2 80520 RN 14.98 805
3 80920 PR 15.73 809
4 80325 HHRIE 15.87 803
5 80116 o R 15.92 801
6 80220 ik 16.29 802
7 81328 FEIEES 16.35 813
8 80420 PR 16.62 804
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1 80708 s 12.94 807
2 80407 =EE 13.25 804
3 81609 B EE 13.63 816
4 80510 EZTS7A 13.84 805
5 81505 NG 13.97 815
6 80811 EET 14 808
7 81413 HERBREAE 14.13 814
8 81316 B 14.25 813
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1 90720 [ZESSk 15.36 907
2 90816 SR 15.38 908
3 91324 oK 15.51 913
4 91616 U 16.01 916
5 91117 sl 16.22 911
6 91821 R 16.36 918
7 91825 REE 16.44 918
8 90617 et 16.53 906
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1 90907 PRArZE 13.14 909
2 91306 iy =77 13.21 913
3 91704 TRIEAL 13.38 917
4 91502 R 13.56 915
5 90113 FEAHIER 13.67 901
6 90402 FRE 14.22 904
7 90707 SRR R 14.3 907
8 91211 R 14.33 912




